QUESTION ONE
a)    Define development and discuss any four weaknesses of Rostow's stages of    
         economic growth                                                                                    (5 marks)

b)   East Africa is an agricultural region. In your view, why has the agricultural sector not been able to attract the relatively more educated youth into productive farming.                                                                               (5 marks)                    	             
 QUESTION TWO
a) Argue the case for regional economic integration within the African continent.                                                                                            (5 marks)
                                                                                          
b) Discuss any five weaknesses of Trait theory of leadership as applied to African development                                                                       (5 marks)


 
